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z+T€ED, B f(x+T) = f(&) EmML, WFR £(2) K I R
X F A A R BOR 3, € X T AL 24 AR f(a+ D = f(o JHRA8A
fzA2D=f[{z+T)+T]
= flx4+T) = f(x),
flx+3D= f[(xz+2D +T]
= (x4 2T). = f(x)
MATRLE « 35 H P — B/ N IESL L, WIRLAE 1 8 FA A ek 8 f (o) 1 e /) T J 38 16T R J 38,
Bl y = sinz , y = tanz KA HH 2n.n.
[5123) Bk y = f() B o R FIEAR AR BE R v = f(az) (@ > 0) &L

© L.
iE EERE
Flaz) :f[a(x+§)}

HR f(2) LA w RJEHA, BT 2L
flax) = flax +w),

B flaz) = f[a<x+§)]. FTEA f Ca) FELL 2 Ay R 9116 0 39 B .

Bl y = sinx , y = cosx ¥ LA 2x K, LA y = sindx , y = cos % E‘J)ﬁ]%ﬁ}}}ﬂﬂg%
M 4.
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3. By M
WEE y = f(2) FEXE] (a,b) WA E S, MR FXE (a,0) HHEBE RN 20 Fl 22,24
o<z, B, f5A
Flxi) <5 () »
FRZREIAE X [H] Ca , 6) P B EIE I , ARG , (@, )RR () B BRI N 8] 5 24 2 <<ap B
f(x) > fx2),
TIFRZ R ELAE X 8] Ca » ) P BLPRIRAD  BRARIB I (a, OO FRN f () Wy BRI X ).
FEIX ] Ca, b) b B34 fin sk S a2 () BR B GE AR A X 8] Ca, ) 1 I SRR R %K 5 (a, O) FR A R
B f () 1Y B X [a].

BN, y = tanx E(—g,g)mﬁﬂg, y = cosx 10, 1) P .

MU BT » 1838 R BE0) R 2 3 I 1) 17 P 5 338k o6 80 1) PRV VS = 8 I 1) G
FE. BIANBREL v = 2 FERE SR (—oo, +-c0) N BAPERE NN ; BB y = =* FE(—o0,0) AW,
FE (0, +o0) WELPEIE AN, (EAESE IH(—oo, +oo) W, y = 2 ARV RE, il 1-5 B,

¥ Y

(a)

4. B A FE
W f(OEXE I BB E L EFE—NIER M, 4T— € I i, f5H
| f() |I<M
BAL R R f () REE T FA R REG MRAFFEXFER IES M, MIFR AR f () ATE |
TR REL
B, HAY 2 € (—oo,+oo) b} 8 | sinz | <1, FTLLEREL f(x) = sinz FE(—oc0, +o0)

WRHRES. X f(2) = sin 2, f(2) = arctan 3z 2L MM 5E LK RA I, T
f@ =tanz #(— 5 5 | AR TR EH.
A 0 R BT BB TE R ORI — BB A R T ZE 5 — BB A TR Bl (o) = tana

(=55 [ Rn. i (— 5 ) MRERN. TER y =« 2 — 1, 11 RA R,



10 B % ¥ %

(A ETE(—oo, +oo) L RIEFM). FHIRATH—REORHE R HEE XA 0, LR HH A
AR B P A VLV L ‘

3 Al-l
1. FHREREMFE? ItAa?
(D f(x) = lga?,g(x) = 2lgzx; (2) f(2) = z,g(z) = V2.
2. # f(zx) =222 —3z+2,3K £(0), f(4),f(a), flx+1).
N 1_1'11'<0 )
3. % flx) = {21 5 ¥, F(—2),f(—1D,fC0), ().
' ' T

4. B f() ={V21'I’I< 11. R F(—3), £Q0) (2 (5.

X ' T
5. 3K 5 sR B E U«

N 1 -1 .
(1)y—12+1, 2) y m+«/x(x IO
3z BN TR ey 8

(3)y_x2—3x+2’ (R T e
B)y= arcsin‘r;1 ; (6) y = arctan(xz+1) ;
(7)y=lg1—i—1+«/1+3; (8) y =+/cosx ;

| 1—22,1<<x<<2
9) y = In(l ; 10) y = .
(9 y = In(Inzx) 10) y 2?2 <zt
6. ¥ F()E IR0, ,3K f(Unx) BE .
7. HW R 5 R B AR -
(D y=3% (2) v =32 —5x2*;
B)y=¢e+€e~*; W y=z(xz+DE—D;
(5) y = zxsinx; (6) y = cos(sinz) ;
my=12l, (et e
8. KT % s BB HF S s I
€1) V= =0y (2) y="10*—5;
(3)y=x—x__—2; 4) y=1+In(x—2).

9. #& f(x) = l—f— 3R LA ]

Z
10. 4R y = u?,u = logsx, ¥ y Tl x H K%L
11. T3 ok Hi el e 6 s i B o 0 S 5 T SR -
) y=+3z—1; (2) y=1In(143x);
(3)y=«/m; 1)’y = e=H,
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(6) y = sindx; (6) y = lg[arcsin(z®) 3

(M) y=cos’Cx+1); (8)y:2(ﬁ1)2'

12. pM e R IIHLE  JE R A A AR 50 BERT, sk 0. 538 J0/E ; Midid 50
BEERRE 200 BERT , #RE FR 43 (9 B A K 0. 568 TT/BE ; 4 1 200 BE Bt , 3k 3B 43 B HL A Ky
0. 638 o/ ; ik B R H HH %% C SHHE « Z [ RBEE AR,

L2 R B B M

MWW TR I2 3l » (LAURIE A 5 pRECTE AR A o A o BN BB B0 AR A S 1Y , IR T 22
1 2E R B AL B AE AB Be , 15 5 B A X RS SE ” B BT St e A B A AR A
Jrik. BRBRIE R SFRA P RERNBEZ —, ROTRMAU M ER TR, &% M50k B4
ILAF B IER. PUb, AT E S R AR PR i) SR AR 5 7.

T HEAEKRE BT

(611 SKihek v = 2% 0 = 1 K o BT ) PR L2 B i figth 1 = #0 08 , 181 1-6(a)

s JE0 T AR,
|

(a) (b)
& 1-6

# L0, 11550 n AN [0. 5 [ [ 2 ] [P ] B FIRIAL iRk
1 n AP NI 1-6b) , BT HI
et EY Rl o Rl ) R ot hew
EHE 0 A NET TR A S, TER A= ATBHTRS (IR R WA
sws = Lo (B e (E) e () s d (Y

= 5[0+ 22 4 oo+ (n— 1]

w

n® 6

1 ><71(71—1)(271—1)
X (1= )X (2—7):



